11.4 Corrective Assignment — Ellipses Name: ID: 1
Algebra 2 Date: Period:

In problems 1-4, Sketch the graph of the given equation and fill in the blanks for the given information.

1. ("2‘”2 + ”;63)2 -1 2. 9x2 +49(y — 1)? = 441
t Center: T Center:
) ) Vertices: ) ‘Vertices:
Co-vertices: Co-vertices
) Foci: ’ Foci:
3. 36(x—1)2+(y+1)2=36 4. 9(x +1)? +25(y +1)? = 225
t Center: T Center:
) ) Vertices: ) ‘Vertices:
Co-vertices: Co-vertices

Foci: Foci:



Use the information provided to write the standard form equation of each ellipse.

5) Vertices: (5, 18), (5, -2)
Co-vertices: (9, 8), (1, 8)

7) Vertices: (-7, 5), (=7, —25)
Co-vertices: (=3, —10), (~11, -10)

9) Vertices: (8, —2), (-18, -2)
Foci: (0, -2), (10, -2)

6) Vertices: (17, —4), (-5, —4)
Co-vertices: (6, 2), (6, —10)

8) Vertices: (13, -6), (-1, —6)
Co-vertices: (6, 0), (6, —12)

10) Vertices: (12, -3), (-14, -3)
Foci: (4, -3), (-6, —3)



D
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Answers to 11.4 Corrective Assignment - Ellipses (ID: 1)

5\ y Center: (—4, 3)
/T\ Vertices: (-4, 7)

7 (-4,-1)

# Co-vertices: (-2, 3)

2 (-6,3
_ o Foci: (4,3 + 2\/_3))
B o 5 (43-23)

R

5\ y Center: (1, —1)

Vertices: (1, 5)

7 (1,-7)

4 N Co-vertices: (2, -1)

5 (0, -1
< - Foci: (1,—1+ 35
8 16 4 b | % (1L,-1-+/35)

I \Y/

B’

2 2
(x=5)°  (y-8) _
-1 6)
16 100
2 2
X—6 +6

(=62 (y+6f 0

2)

4)

AY

Center: (0, 1)

Vertices: (7, 1)

(=7,1)

Co-vertices: (0, 4)
(0,-2)

 Foci: (2\/5, 1)

A

X (-2v10,1)

AY

Center: (-1, —1)

Vertices: (4, —1)

(-6,-1)

Co-vertices: (~1, 2)
(-1,-4)

 Foci: (3, 1)

A

% (=5,-1)
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